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Code No:l5lAD
JAWAI{ARLALNEHRUTBCI{NOLOGICALUNIVEIISITY,HYDEIIABAD

tt .Tech I year I Semester Examinatiolls, December - 2018

Time : 3 hours Mi'rr Nfarlis: 75

Ansrver anv live questiolts

All questitlns ctlrrv cqual tnarlis

1.a)Thefociofanellipsearel00rnrnapartatldthetllinorarisis50tlltlllong.Detertline
I lire,length "irfr.',;u:"i'axis 

r",l i;;;;]e ellipse' tefi half by'concentric circles nrethocl

attd Right lrallby oblong rlrethod'

ir) The lelgth or:tio n., r'e[r'esented b-v a lie of l5 cn,.otr the drarving' C]onstruct a vernrer

scaletoreadupto600nr.N,lar.korrascalethelengthol.5i}9rrl.[15]
OR

2,AbalithrolvnLrpintheairreachesat-naxitll'ttl-theightol.45rr,ietersandtrar,elsa
horizontal distance of 75 rreter.s. Tr.ace the complete path of the ball' assuming it to be

par.abolic; Find the direction of travel of tlie ball at a height of l5 meters ft'om tlte

il;",iidr"r. 1 :5oo) [15]

-r.d A regLrlar pentagon ol 30 mrn sides is restirrg on IIP oll one of ils sidcs $'hile its

opposite vertex (corner) is 30 rtlm above FIP' Drari'pt'o-iections ivhctr sicle irr llP is 3()il

-:::' ':;'
t.j

inclined to VP.

b) Trr,o points A aricl B are irr the Il.P. The poirrt A is 30 trrttl itr fl"orrt o1'tlre V.P" rvlrile B

is behincl the V.p. The ciistance betrveen their pro.iectors is 75 IItn and the lirre-ioirrirrg

tlieir top views rnakes an angle of 451' rvith x1'. F:ind t5e distance of the poirrt B' 1r-orn

the V.P. I l5l

OR

4. A circle of 50 mu-r cliameter is resting on the groLrnd on a poinl i'vith its plarle inclirled at

300 to the ground. Draw the prl.,"Jtinnr of:the. circle 
'vhen: 

a) The top vierv o1'the

ciiameter thro*gh the restirTg poinimakes an angle of 450 r'vith xy and b) The ciiarreter

passi'g tf-,r""gf] tn. restingloint r,al<es an angle 450 rvith the V.P [15]

5. A square prisrn of- base 50 rntt-t side arld 100 rnnr

grourrdsuchthatattthet.ectangulartacesareequallyinclirrecltotlreV"P'ltiscLrtby.a
section plane perpenclicular to the v.P such that the trLte sltape ol the scctiott is it

rhombus ott ro"g.l. diagonal 90 rnrr. Find the inclination of the sectiot-t plane rvith the

H.pa,ddrawthefi.ontvierv,sectionaltopvier,vandtruesliapeol'thcsectiot-t'i15]
OR

6. A penragonal pyramid has arr eiJge of the base in the V.P anc'l i,cli,ed at 30t) to the ll'[)'

*6ile the triangular lace contairring that eclge nralics arr atlglc 45o ri'ith thc v'P' [-ength

of the side of the basc beirrg 30 m,rl ancl lengtlr ol'the axis 75 ttltll. I)rari tllc pro-jections

of the solicl. l15l
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vier'r.,. and top vierv. (Ail climensiotrs at'e in trtr) tl 5]

ott
A circ,lar blocl<. 75 mnr cliaureter ancl 25 nrut thiclt. is pierced centrallv tht'ottsh its llat

l.aces by a sqLlafe prism. base 35 nrnt sicle arlcl 125 tlltll lotig. r'r'hich colllcs oLrt eqLlally

on both sides of the bloch. Drar\,tlte isotnetric projectiorl of the cotribitlatiorl $'hetr the
riil

cotnbined axis is horizorrtal' i ''t

7.

B.

A pentagonai prisrn 20 trm side of base ancl 45 rnm height stands vertically on its base

rvith tr,vo of its rectangular faces eqLrally ir-rclinecl to ti're V'P' The V'T of the cLrtting

Ol"r.',r.'ir.J;r;' tI tne axis olthe prism. passes throLrgh the leli comer of tlre top

ffi;f ;; ;;l, o"*r"p the iower portion of the laterat surface of tl.ie pr:ism. Lt5l

Coue with a base diameter ol6zl rnrn and an axis lenqth of 70 ttlm is ltept on its base on

the IlP. A cylir-rder ol diarlreter 30 mm and length 90 trrr peltetrates the colte

horizoutaliy.'fhe axis of the cylincler is 20 mlr above the base oltlle cotre atrd 5 tl.ttl

arvay fr.om the axis of the latter. Drau' the three vierl's o1'the solids sholving cltrve ol

intersection [l5l
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